RESOLUTION NO. 38-94 CITY OF CENTERVILLE, OHIO

SPONSORED	BY COUNCILMEMBER	Jy Stone	ON THE
16-th	DAY OF N		, 1994.
		AUTHORIZE THE CITY TO A CONTRACT IN	í,
Street Propursuant	ogram, Concrete and	dvertised for bidders of Asphalt, in the City of epared by the City; and	f Centerville,
best bidde	514 CH 1914 F M 1914 CH 1914	Cavett Company was the	lowest and
RESOLVES:	NOW, THEREFORE, THE	MUNICIPALITY OF CENTER	RVILLE HEREBY
hereof, is City Manac necessary	arked Exhibit "A", a s hereby accepted in ger is hereby author	te bid submitted by the attached hereto and made the amount of \$501,560 aized and directed to express acceptance of said by	e a part 7.60, and the nter into any
unit price	up to a total amounes quoted in the bid	e City Manager is herelet of \$550,000.00 in accession to the less as deemed necessary.	cordance with
the earli	<u>SECTION 3.</u> This Reest date allowed by	solution shall become a	effective at
1994.	PASSED this well da	y of Men	
0 0 0 0			

Mayor of the City of Centerville, Ohio

ATTEST:

Clerk of the Council of the City of Centerville, Ohio

CERTIFICATE

Clerk of Council

Approved as to form, consistency with the Charter and Constitutional Provisions.

Department of Law
Robert N. Farquhar
Municipal Attorney

BIDDERS PROPOSAL

CONCRETE REPAIR AND ASPHALT RESURFACING ROAD IMPROVEMENT PROJECT - 1994

Submit	ted by: L. P. (CAVETT COMPANY
Having	read the specifications and ex	amined the drawings included herein:
	Concrete Rep. City of Center	air and Asphalt Resurfacing Road Improvement Project - 1994 rville, Ohio
unders	igned hereby propose to furnis	n Centerville, Ohio, and having also taken into account all addenda issued, the sh all materials and to perform all labor, as specified and described in the said ans for the said work, for the following sums:
A.	STATEMENT BY ALL BID	DERS:
	The receipt of the following acknowledged.	Addenda to the Contract Document (drawings and specifications) is hereafter
	Addenda No.	Date
	Addenda No.	Date
В.		FORMATION (breakdown required) as follows and the grand total shall be the sum of all items.

77	DESCRIPTION	QUANTITY	UNIT AMOUNT	AMOUNT
202	Concrete Curb Removed	7,000 LF	\$ 3,00	\$ 21,000.00
202	Curb Ramp Removed	100 SF	\$ 1.00	\$ 100.00
202	Sidewalk Removed	300 SF	\$ 1.00	\$ 300.00
253	Pavement Repair	2,000 SY	\$ 2200	\$ 44,000.00
253	Undercutting	10 CY	\$ 25.00	\$ 250.00

254	Pavement Planing	56,324 SY	\$ 0	5 50,691.60
404	Asphalt Concrete, 4" driveway	800 SF	s1.25	\$ 1000.00
404	Asphalt Concrete; 1 3/4 "	7,740 TONS	5_22.60	s 174, 924.00
407	Tack Coat; 0.2 GAL/SY	13,700 GAL	\$0/	5 137.00
452	Concrete Pavement, 6" thick	1,400 SY	\$ 28.00	5 39,200.00
452	Concrete Driveway, 6" thick	1,500 SF	s <u>4.25</u>	\$ 6375.00
603	12" Pipe Rebuilt	30 LF	\$ 45.00	\$ 1350.00
603	12" Pipe Replaced	30 LF	\$ 45.00	\$ /350.00
604	Major Catch Basin Repair	35 EA	\$ 255.00	\$ 8925,00
604	Major CB Repair with 1 pipe sect	tion 1 EA	\$ 425.00	5425.00
604	Minor Catch Basin Repair	25 EA	5 170.00	5 4250.00
604	Minor CB Repair with 1 pipe sect	tion 1 EA	\$ 350.00	\$350.00
604	Catch Basin, Type 2x2, installed	d 1 EA	5 625.00	\$ 625.00
604	Manholes Adjusted to grade	30 EA	\$ 160.00	\$ 4800.00
604	Water Valves Adjusted to grade	30 EA	\$ 50.00	\$ 1500.00
605	4" Underdrain under grass	2,000 LF	s7.3 s_	\$ 14,600.00
605	6" Underdrain under grass	600 LF	\$ 8.00	\$ 4800.00
605	4" Underdrain under driveways	200 LF	\$ 8.30	\$ 1660.00
605	6" Underdrain under driveways	60 LF	\$ 9.00	\$ 540.00
605	6" Underdrain - galvanized	50 LF	s 9.30	\$ 465.00
608	4" Sidewalk - concrete	300 SF	5 3.00	5 900.00
608	6" Curb Ramps - concrete	100 SF	\$ 3.00	\$ 300.00
609	Concrete Curb and Gutter - replaced	7,000 LF	s	\$ 81,550,00
614	Maintaining Traffic	LUMP SUM	\$ 6,000.00	\$ 6,000.00
825	Crack Seal, Type III	36,500 LBS	5 .80	\$ 29,200.00

GRAND TOTAL - ALL ITEMS

\$<u>501,567.60</u>

RECYCLES 404 - 22.30/TEN

C. COMPLETION DATE INFORMATION
The bid price reflected above represents a completion date of September 2, 1994. If an alternate completion date is proposed, it shall be specified hereafter.
ALTERNATE COMPLETION DATE
D. CONTRACT PREPARATION INFORMATION
The bidder shall supplement proposal by supplying the following information for use in the preparation of the Contract.
NAME OF COMPANY/CORPORATION: L.P. CAVETI COMPANY
NAME OF PRESIDENT: DON MILL
ADDRESS: 600 SHEPHERD AVENUE
CITY, STATE, ZIP CINCINNATI OHIO 45215
FEDERAL TAX I.D. #: 31-0521486
TELEPHONE # : _513-554-0400
FAX #: 513-554-0160
EXECUTION OF PROPOSAL
NOTE: Failure to sign proposal shall result in rejection of bid.
THIS PROPOSAL SUBMITTED BY:
L. P. CAUETI COMPANY
(NAME OF CONTRACTOR)
BY: (down of ff front V.1.
(SIGNATURE OF CONTRACTOR OR AUTHORIZED REPRESENTATIVE)
DATE: MAY 12, 1994
Contact person for Contract processing: ROBERT L. MOUNT
Mailing address if different from above: